
19,5
22

,5

38

H0023 SWASHPLATE Set
POS CODICE DENOMINAZIONE QUA

1 H0023-01 SWASHPLATE 01 1

2 H0023-02 SWASHPLATE 02 1

3 H0023-03 SWASHPLATE 03 1

4 H0023-04 SWASHPLATE 02 1

5 H0023-05 SWASHPLATE 03 2

6 H0063 UNIBALL M3x4 Ø5 H3.5 L25 1

7 H0065 UNIBALL M3x3.5 Ø5 H3 4

8 HC002 Socket Cap M2x5 3

9 HC008 Socket Cap  M2x8 4

10 HC170 Wascher 2 x 5 x 0.5 3

11 HC430 Bearing Ø30 x Ø37 x 4 2

Exploded view technical [rev00]

SECTION  B-B

VEDI DETTAGLIO A

SCALA 1:1

 1 

 2 

 3 

 4 

 5 
 6 

 7 

 9 

 11 

 10 

 8 

DETTAGLIO A
SCALA 3:1


	Foglio 1
	Viste
	new_view_30
	bottom_32
	bottom_33
	new_view_34
	new_view_35
	A



